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A SATISFACTORY SOLUTION OF ALL EXAM PREPARATION

Vocab Questions Overview

Vocab Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is similar
to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to elaborate
the concept used in Vocab Questions.

Question

A word has been highlighted in each of the following statements. In response to the highlighted word, a pair of words has
been provided in the options below. Find the pair of the words where the first word is the synonym of the highlighted word
and the second word is the antonym of the given word. As Chief Secretaries, you should, therefore,

exercise vigilant supervision over officials connected with the administration of these measures.

Difficulty : Moderate Average Time: 44 Seconds

Options :
1. Watchful-Observant

2. Prudent-Negligent
3. Wary-Chary
4. Careless-Dull

5. Thoughtless-Unwary

Solution

The correct answer is option 2, i.e. Prudent-Negligent.

Concept/Grammar

Application
rules PP
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The query is about
finding the appropriate
synonym which
represents a word or
phrase that means
exactly or nearly the
same as another word
or phrase in the same
language and antonym
which represents a
word opposite to the
given word "Vigilant".
Option 2, i.e. "Prudent-
Negligent" seems to
be the appropriate pair
of synonym and
antonym of the given
word.

The word "Vigilant'
means careful and
looking out for
danger. The pair
given in option 2
seems to be
representing the pair
of synonym-
antonym. The given
word

"Prudent” seems to
be a synonym as it
means acting with or
showing care and
thought for the
future. The other
given word
"Negligent" seems to
be its antonym as it
means failing to take
proper care over
something.

Further, the
remaining pairs are
representing either a
pair of synonyms or
antonyms to the
given word.

Hence, the correct
option is 2.
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